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evwl©K cix¶v 

gvb e›Ub: wjwLZ  80, g‡Wj  20  = c~Y©gvb 100  

cvV¨m~Px: evsjv‡`‡ki †kÖô hviv, evsjv‡`‡ki HwZn¨ ’̄vb, evsjv‡`‡ki wewfbœ 

cÖwZôvb, Puv`, c„w_exi e„nËg I ÿz`ªZg ¯’vcbv, c„w_exi mßvðh©, †`k cwiwPwZ, 

mixm„c I DfPi cÖvbx, Lv`¨ I cvbxq, gvbe‡`n, †Ljvayjv, ag©, Avwe®‹vi I 

Avwe®‹viK, wek¦weL¨vZ cyi®‹vi| 

cÖ‡kœi aiY: 1g mvgwqK Abyiæc| 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(1) 

welq: evsjv 1g cÎ (4_© †kÖwY) 

1g mvgwqK cix¶v 

gvb e›Ub: wjwLZ  80, g‡Wj  20  = c~Y©gvb 100  

eB‡qi bvg: Avgvi evsjv eB (4_© †kÖYx)| 

cvV¨m~Px:  cvV:1 †_‡K cvV:9 ch©šÍ (1g c„ôv †_‡K 40 c„ôv )| 

cÖ‡kœi aiY: †hvM¨ZvwfwËK cÖkœ I DËi 

Aby‡”Q` c‡o 1 I 2 b¤̂i µwg‡Ki cÖkœ¸‡jvi DËi `vI| [ cvV¨eB †_‡K ] 

1. ‡h †Kv‡bv 5wU k‡ãi A_©  wjLv|      5 

2. cÖ‡kœi DËi wjLv|       15 

Aby‡”Q` c‡o 3 I 4 b¤̂i µwg‡Ki cÖkœ¸‡jvi DËi `vI| [ cvV¨eB ewnf’©Z ] 

3. k~Y¨ ’̄vb c~iY|       5 

4. cÖ‡kœi DËi wjLv|       15 

5. wµqvc‡`i PwjZ iæc †jLv|      5 

6. Aby‡”Q` c‡o †K, Kx, †Kv_vq, Kxfv‡e, †Kb, KLb kã¸‡jvi †h‡Kv‡bv  

cuvPwU GKevi e¨envi K‡i cuvPwU cÖkœ‡evaK evK¨ •Zix Kiv|   5 

7. ‡h‡Kv‡bv cuvPwU hy³eY© †f‡½ kã I evK¨ •Zwi Kiv|   10 

8. wecixZ kã|       5 

9. mgv_©K kã|        5 

10. KweZvi PiY c‡o cÖkœ¸‡jvi DËi `vI| [ cvV¨eB †_‡K ]   15 

 

2q mvgwqK cix¶v 

gvb e›Ub: wjwLZ –80, g‡Wj   20 = c~Y©gvb 100 

cvV¨m~Px: cvV:10 †_‡K cvV:15 ch©šÍ (41 c„ôv †_‡K 71 c„ôv)| 

cÖ‡kœi aiY: 1g mvgwqK Abyiæc| 

 

evwl©K cix¶v 

gvb e›Ub: wjwLZ 80,g‡Wj 20,=c~Y©gvb 100 

cvV¨m~Px: cvV:16 †_‡K cvV:23 ch©šÍ (72c„ôv †_‡K †kl ch©šÍ)| 

cÖ‡kœi aib: 1g mvgwqK Abyiæc| 



(2) 

             welq: evsjv 2q cÎ 

1g mvgwqK cix¶v 

gvb e›Ub: wjwLZ 80, g‡Wj 20  = c~Y©gvb 100  

cvV¨ eB: cÖ‡MÖwmf ( evsjv e¨KiY I wbwg©Z ) 4_© †kÖwY 

iPbvq: cvbœv bvmwib| cÖ‡MÖwmf cvewjkvm©  

cvV¨m~Pxt  fvlv I evsjv fvlv,e¨vKiY I evsjv e¨KiY,kã I  Zvi cÖKvi‡f`, 

mwÜ we‡”Q`,evK¨ I Zvi cÖKvi‡f`,c`, c` cwieZ©b, wecixZv_©K kã, mgv_©K 

kã,GK K_vq cÖKvk,evMaviv, hwZev †Q` wPý,  dig c~iY| 

fvem¤cÖmviYt 1 I 2 bs (95 c„ôv) 

mvivskt 2I 3 bs ( 98, 99 c„ôv)  mvigg©t 1bs (99 c„ôv) 

e¨w³MZ cÎt 1 I 2 bs (102, 103 c„ôv)    

Av‡e`b cÎt 1 I 2 bs (109 c„ôv) 

iPYvt 1| evsjv‡`‡ki cÖK…wZ 2| e½eÜz †kL gywReyi ingvb 3| †eMg †iv‡Kqv| 

cª‡kœi aibt  

1.msw¶ß cÖkœ _vK‡e 7wU,5wUi DËi w`‡Z n‡e|  55 = 25 

2.fvem¤cÖmviY 2wU _vK‡e 1wU wjL‡Z n‡e|  110 = 10 

3.mvivsk& A_ev mvigg© _vK‡e, 1wU wjL‡Z n‡e|  110 = 10 

4.dig c~iY|  110 = 10 

5.e¨w³MZ cÎ A_ev Av‡e`b cÎ _vK‡e, 1wU wjL‡Z n‡e|  110 = 10 

6.iPbv 3wU _vK‡e 1wU wjL‡Z n‡e|  115 = 15 

2q mvgwqK cix¶v 

gvb e›Ub: wjwLZ 80, g‡Wj 20  = c~Y©gvb 100 

cvV¨m~Pxt fvlv I evsjv fvlv,c`, c` cwieZ©b,ePb,cyiæl, wj½, hwZ ev †Q` 

wPý,wµqvi Kvj, wecixZv_©K kã, mgv_©K kã,GK K_vq cÖKvk,evMaviv, dig 

c~iY | 

fvem¤cÖmviYt cvV¨ eB Gi 3 I 5 bs(96 c„ôv) 

mvivskt 3 I 4 bs(99 c„ôv)          mvigg©t  2 bs(100 c„ôv) 

 

(11) 

 

mvaviY Ávb 

cÖ_g mvgwqK cix¶v 

eB‡qi bvg: ‡mvbvgwb‡`i  Rvbvi  K_v (3)  

iPbvq- gvneyeyi ingvb kvnxb, w` wKWm Iqvì© cvewj‡KkÝ| 

gvb e›Ub: wjwLZ  80, g‡Wj  20  = c~Y©gvb 100  

cvV¨m~Px: evsjv‡`‡ki cwiwPwZ, evsjv‡`‡ki fvlv Av‡›`vjb, evsjv‡`‡ki RvZxq 

welq, evsjv‡`‡ki e„nËg I ÿz`ªZg, gnvwek¦, c„w_ex, cÖvK…wZK welq, c„w_exi 

e„nËg cÖvK…wZK ’̄vb,c„w_exi `xN©Zg I D”PZg cÖvK…wZK ¯’vb, †`k cwiwPwZ, cï, 

cvwL, Dw™¢`, Avwe®‹vi I Avwe®‹viK| 

cÖ‡kœi aiY: 

 eo cÖkœ 

 ‡QvU cÖkœ 

 k~Y¨ ’̄vb c~iY 

 mZ¨-wg_¨v wbY©q Kiv 

 Wvb-evg wgj Kiv 

 

wØZxq mvgwqK cix¶v 

gvb e›Ub: wjwLZ  80, g‡Wj  20  = c~Y©gvb 100  

cvV¨m~Px: evsjv‡`‡ki gyw³hy× I ¯v̂axbZv, evsjv‡`‡ki cÖ_g, evsjv‡`‡ki `xN©Zg 

I D”PZg, †mŠiRMr, m~h©, c„w_exi MfxiZg I ÿz ª̀Zg ¯’vb, c„w_exi `xN©Zg I 

D”PZg ¯’vcbv, cÖvPxb mf¨Zv, †`k cwiwPwZ, RjR cÖvbx, KxU cZ½, dzj, dj, 

cÖhyw³, AvšÍR©vwZK ms ’̄v| 

cÖ‡kœi aiY: 1g mvgwqK Abyiæc| 
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 cÖ‡kœi aib: 

 mwVK DËiwU LvZvq wjL| 

 ‡QvU cÖkœ| 

 eo cÖkœ| 

 k~Y¨ ’̄vb c~iY| 

 Wvb- evg wgjKiY| 

 

wØZxq mvgwqK cix¶v 

 gvb e›Ub: wjwLZ  80, g‡Wj  20  = c~Y©gvb 100  

 cvV¨m~Px: 7g Aa¨vq †_‡K 9g Aa¨vq ch©šZ| 

 7| cªvK…wZK m¤ú`  

 8| gnvwek¦  

 9| Avgv‡`i Rxe‡b cªhyw³  

 cÖ‡kœi aiY: 1g mvgwqK Abyiæc| 

  

evwl©K cix¶v 

 gvb e›Ub: wjwLZ  80, g‡Wj  20  = c~Y©gvb 100  

 cvV¨m~Px: 10g Aa¨vq †_‡K 13Zg Aa¨vq ch©šZ| 

 10| AvenvIqv I Rjevqy  

 11| Rxe‡bi wbivcËv Ges cÖv_wgK wPwKrmv  

 12| Avgv‡`i Rxe‡bi Z_¨  

 13| RbmsL¨v I cÖvK…wZK cwi‡ek  

 cÖ‡kœi aiY: 1g mvgwqK Abyiæc| 

 

 

 

 

 

(3) 

e¨w³MZ cÎt 5 I 6 bs ( 105 c„ôv)     

Av‡e`b cÎt 3 I 4 bs (110 c„ôv) 

iPYvt 1| ‡gvevBj †dvb 2| kxZKvj 3| Avgv‡`i we`¨vjq 

cª‡kœi aibt 1g mvgwqK Abyiæc| 

 

evwl©K cix¶v 

gvb e›Ub: wjwLZ 80, g‡Wj 20  = c~Y©gvb 100  

cvV¨m~Pxt 1g I 2q mvgwqK welq mg~n| 

fvem¤cÖmviYt cvV¨ eB Gi 8 I 9 bs( 97 c„ôv) 

mvivskt 5 bs(99 c„ôv)            mvigg©t 3 I 4 bs( 100 c„ôv) 

e¨w³MZ cÎt 7 I 8 bs(106 c„ôv)    Av‡e`b cÎt 5 I 6 bs(111 c„ôv) 

iPYvt 1| Avgvi gv 2| evsjv‡`‡ki ¯̂vaxbZv w`em 3| Avgvi wcÖq wkÿK| 

cÖ_g I  wØZxq mvgwqK cix¶vi cvV¨ wel‡qi Dci evwl©K cix¶v n‡e| 

cª‡kœi aibt 1g mvgwqK Abyiæc| 

 

English For Today 

1
st
 Term Examination 

Content: Unit 1-15, 23, 38. Wh-word and do/does. 

Questions Categories 

Seen / Unseen Comprehension:  

1. Multiple choice questions   

2. Fill in the gaps. 

3. Match the words in Column A with their meanings in 

Column B.  

4. Answer short questions.  

5. Short composition (Students will write  at least five 

sentences  related to the topic) 

6.Write a simple personal letter on/about ‘Unseen 

Comprehension’ in at least six sentences.  



(4) 

7. True false. If false give the correct answer. 

8. Fill in the gaps by writing time so that the story makes sense. 

9. Short questions using informative instructions. 

10. Make five WH questions from the statements by using 

Who,What,When,Where,Why,Which and How. Students will 

make questions with the underline words. 

 

2
nd

 Term Examination 

Content: Unit 16-22, 24, 25, 38. 

Questions Categories: The 1
st
 Term Exam is similar 

 

Annual Examination 

Content:  Unit 26-37, 39-42. 

Questions Categories: The 1
st
 Term Exam is similar 

  

English 2
nd

 Paper 

1
st
 Term Examination 

Text book: Advanced Learner’s Functional English( Class-4) 

Written by: Chowdhury & Hossain   

Marks distribution: Model test-20, Written-80 = Total 100 

Content: Vowel & Consonant,Word & Syllable, Sentence, 

Subject and Predicate, Parts of Speech, Noun,  Pronoun, 

Adjective, Articles , Number, Person, Conjugation of verbs,  

Punctuation & Capitalization, Rearranging of words, Cardinal 

and Ordinal Numbers. 

 Form Filling: (1- 6) 

Application: Page-128 (No.1), Page-129( No.3) 

Letter: Write a letter to your father requesting him to send you 

some money for buying some books. ( Page-126) 

(9) 

 wØZxq mvgwqK cix¶v 

 gvb e›Ub: wjwLZ  80, g‡Wj  20  = c~Y©gvb 100  

 cvV¨m~Px: 8g Aa¨vq †_‡K 11 Aa¨vq ch©šZ| 

 8| mvgvwRK I ivóªxq m¤ú` 

 9| GjvKvi DbœqY 

 10| Gwkqv gnv‡`k  

 11| evsjv‡`‡ki f~ - cÖK…wZ|  

 cÖ‡kœi aiY: 1g mvgwqK Abyiæc| 

evwl©K cix¶v 

 gvb e›Ub: wjwLZ  80, g‡Wj  20  = c~Y©gvb 100  

 cvV¨m~Px: 12Aa¨vq †_‡K 16 Aa¨vq ch©šZ| 

 12| ỳ‡h©vM †gvKvwejv  

 13| evsjv‡`‡ki RbmsL¨v  

 14| Avgv‡`i BwZnvm  

 15| Avgv‡`i gyw³hy× 

 16| Avgv‡`i ms¯‹„wZ  

 cÖ‡kœi aiY: 1g mvgwqK Abyiæc| 

 

welq: cÖv_wgK weÁvb 

cÖ_g mvgwqK cix¶v 

 gvb e›Ub: wjwLZ  80, g‡Wj  20  = c~Y©gvb 100  

 cvV¨m~Px: 1g Aa¨vq †_‡K 6ô Aa¨vq ch©šZ| 

 1| Rxe I cwi‡ek  

 2| Dw™¢` I cÖvYx  

 3| gvwU  

 4| Lv`¨  

 5| ¯v̂¯’̈ wewa  

 6| c`v_©  



(8) 

evwl©K cix¶v 

gvb e›Ub: wjwLZ 80, g‡Wj 20  = c~Y©gvb 100  

cvV¨m~Px:  

Z„Zxq Aa¨vq: AvLjvK  (40 †_‡K 54 c„ôv) 

PZz_© Aa¨vq : ZvRex`, gvLivR, B`Mvg, BRnvi (65 †_‡K 66 c„ôv) 

PZz_© Aa¨vq: m~iv BLjvm (69 c„ôv ) 

cÂg Aa¨vq : nhiZ hyjwKdj (Avt) nhiZ hvKvwiqv (Avt), 

nvg` bvZ (88 †_‡K 95 c„ôv) 

cÖ‡kœi aib: 1g mvgwqK Abyiæc| 

 

evsjv‡`k I wek¦ cwiPq 

cÖ_g mvgwqK cix¶v 

 gvb e›Ub: wjwLZ  80, g‡Wj  20  = c~Y©gvb 100  

 cvV¨m~Px: 1g Aa¨vq †_‡K 7g Aa¨vq ch©šZ| 

 1| Avgv‡`i cwi‡ek I mgvR  

 2| mgv‡R ci¯ú‡ii mn‡hvwMZv  

 3| evsjv‡`‡ki ÿz ª̀ b„ - †Mvôx  

 4| bvMwiK AwaKvi  

 5| g~j¨‡eva I AvPiY 

 6| cigZmwnÂzZv  

 7| Kv‡Ri gh©v`v   

 cÖ‡kœi aib:  

 mwVK DËiwU LvZvq wjL| 

 ‡QvU cÖkœ| 

 eo cÖkœ| 

 k~Y¨ ’̄vb c~iY| 

 Wvb- evg wgjKiY| 

 

 

 (5) 

 

Paragraph: 1. My Family  2.  My Mother 3. My Daily Routine. 

Essay writing: 1.The Cow   2. Our school. 

Questions Categories 

 Answer the questions. 

 Rearrange words in the correct order to make 

meaningful sentences. 

 Letter or application writing. 

 Paragraph 

 Essay writing (any one) 

 Form Completion ( students will complete a form by 

using given information) 

 Write similar words. 

 

2
nd

  Term Examination 

Marks distribution: Model test-20, Written-80 = Total 100 

Content: Kind of Sentence,  Verb, Adverb, Number, Articles , 

Tense, Conjugation of verbs, Punctuation & Capitalization, 

Rearranging of words.  

Form Filling: (7- 12 No.) 

Application: 

Page-129( No.4) Page-130 (No.6). 

Letter:  

Write a letter to your friend inviting him to join a picnic.  

(Page-126) 

Paragraph: 1. My Favourite Food  2.  My Pen Friend 

3. My Class Teacher. 

Essay writing: 1. Rice   2. Student Life. 

Questions Categories: The 1
st
 Term Exam is similar 

 



(6) 

Annual Examination 

Marks distribution: Model test-20, Written-80 = Total 100 

Content: Adjective,Verb, Preposition, Conjuntion, Interjection, 

Gender, Article, Tense, Conjugation of verbs, Punctuation & 

Capitalization, Rearranging of words.  

Form Filling: (13- 19) 

Application: Page-128 (No.2), Page-131( No.8) 

Letter :Write a letter to your friend inviting him on the occasion 

of marriage ceremony of your sister. (page-126) 

Paragraph: 1. My visit to Cox’s Bazar 2. My Daily Routine 

3. My Reading Room. 

Essay writing: 1. My Village  2. My Parents.  

Questions Categories: The 1
st
 Term Exam is similar 

 

welq: MwYZ 

1g mvgwqK cix¶v 

gvb e›Ub: wjwLZ 80, g‡Wj 20  = c~Y©gvb 100  

cvV¨m~Px: 1g †_‡K 5g Aa¨vq ch©šZ| ( 2‡_‡K 65c„ôv )  

R¨vwgwZ: ‡iLv -Aa¨vq 13 (143 †_‡K 146 c„ôv ) 

2q mvgwqK cix¶v 

gvb e›Ub: wjwLZ 80, g‡Wj 20  = c~Y©gvb 100  

cvV¨m~Px: 6 ô †_‡K 9g Aa¨vq  ch©šZ| (66 †_‡K 120 c„ôv) 

 R¨vwgwZ: ‡Kvb -147 ‡_‡K 154 c„ôv 

 evwl©K cix¶v 

gvb e›Ub: wjwLZ 80, g‡Wj 20  = c~Y©gvb 100  

cvV¨m~Px: 10 †_‡K 12 Aa¨vq ch©šZ| (121 †_‡K 142 c„ôv) 

R¨vwgwZ: wÎf’R- 155 †_‡K 160 c„ôv  

 

(7) 

cÖ‡kœiaviv I gvbeÈb: c~Y©gvb - 100   mgq t 2 N›Uv 30 wgwbU 

1. mswÿß DËi cÖkœ (20wUi g‡a¨ 20wU ) 1× 20= 20 

2. R¨vwgwZt  (3wUi g‡a¨ 2wU)  2× 5= 10 

3. †hvM¨ZvwfwËK (7wU  DËi w`‡Z n‡e) 7× 10= 70 

 

welq: Bmjvg I •bwZK wk¶v 

1g mvgwqK cix¶v 

gvb e›Ub: wjwLZ 80, g‡Wj 20  = c~Y©gvb 100  

cvV¨m~Px:  

1g Aa¨vq : Cgvb I AvKvB`      

2q Aa¨vq: Bev`Z   (55 †_‡K 61 c„ôv) 

m~iv Avb bvmi     (68 c„ôv) 

cÂg Aa¨vq: gnbex nhiZ gyn¤§` (m:) Gi Rxebv`k© - 

nhiZ BmnvK(Av:)    (83c„ôv) 

cÖ‡kœi aib: 

 mwVK DËiwU LvZvq wjL| 

 ‡QvU cÖkœ| 

 eo cÖkœ| 

 k~Y¨ ’̄vb c~iY| 

 Wvb- evg wgjKiY| 

2q mvgwqK cix¶v 

gvb e›Ub: wjwLZ 80, g‡Wj 20  = c~Y©gvb 100  

cvV¨m~Px: 

 wØZxq Aa¨vq : Bev`Z     (20 ‡_‡K 39 c„ôv) 

PZz_© Aa¨vq : Zvk`x`, gvÏ    ( 62 †_‡K 63 c„ôv)  

PZz_© Aa¨vq : m~iv Avj jvnve    ( 68 c„ôv ) 

cÂg Aa¨vq: nhiZ j~Z (Avt) - nhiZ Bwjqvm (Avt) (84 †_‡K 87 c„ôv) 

cÖ‡kœi aib: 1g mvgwqK Abyiæc| 



 

   

   

 

 


